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CLASS: IX TOPIC: POLYNOMIALS
1. The monomial of degree 50 is
A)x*+1 B) 2x°° C) x+50 D) 50
2. | The coefficient of x in the polynomial 2x* + 4x* + 3x + 1 is
A)2 B)3 )1 D)4
3. Which of the following expressions is a polynomial?
A)xj_l B)J;_'-E’ xi— = D) '\JFI_+5I—1
C) X
4. Which of the following expression is a monomial?
A)3+x B)4—x C)x®+2x*+2 D) -3 x
5. A linear polynomial
A) May have one zero B)Has 1 & only 1 Zero C) May have two zeros D)Has more than 1 Zero
6. | If P(x) = x> -1, then the value of P(1) is
A)1 B)2 C)-2 D)0
7. When polynomial x> + 3x* + 3x + 4 is divided by x + 1, the remainder is
A)3 B)2 o)1 D) -2
8. | (a=b)’+(b—c)’+(c—a)’isequal to
A) 3abc B) 3(a—b) (b—c) (c —a) C) 3a’b’c? D) [a — (b+c)]®
9. The degree of constant polynomial is
A)1 B)2 0)3 D)0
10. | A polynomial of degree 3 is called
A)Trinomial B)Linear Polynomial C)Cubic Polynomial D)Binomial




11. | Which polynomial has every real number as its zero?
A)Linear Polynomial B)Zero Polynomial C)Constant Polynomial D)Quadratic Polynomial
12. | Degree of (2x* = 10)(x° + 2) is
A)5 B)4 C)9 D)20
13. | The value of p(x) = 5x— 4x* + 3 forx =0 is:
A) -3 B)3 C)2 D) -2
14. | (x+ 8)(x — 10) 1n the expanded form 1s:
x* — 8x — 80 x* — 2x — 80 x> +2x+ 80 x* —2x + 80
A) B) < Q) D)
15. | The factors of m*>—7m + 6 are
A)(m—-6)(m—-1) B)(m +6)(m + 1) C)(m—6)(m +1) D)(m +6)(m —1)
16. | The remamder when p(x) = 2x" —x — 6 is divided by (x—2) 1s
A)p(2) B)p(3) C)p(-2) D)p(-3)
17. | Ifx =2 is a zero of the polynomial 2%+ 3x —p. then the value of p 1=
A) -4 B)14 C)o D)8
18. | On dividing x° + 3x* + 3x +1 by x we get remainder:
A)l B)O C)-1 D)2
19. | Which are the zeroes of p(x) = (x— D)(x - 2):
A)1, -2 B) -1, 2 01,2 D)-1,-2
20. | A cubic polynomial can have at most ..., zeroes.
A)O B)1 C)2 D)3




